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Solar panel
Simulation result shows that the best position for the
turbins is three meter from buttom
Average speed 3 meters from the bottom: 7.5 meters per
' Internal duct External duct second
: ' Transmission energy from this section if a turbine with a diam-
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. The second simulation result shows that by having
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a minimum outside wind speed (at 45 meter hight ,10 m/s
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oo Economic justification of the project
wind behavior
Green house electricity kw/h year Solar pannel electricity kwh year Total Kwh year
7142 623330 616188
revenue from electricity (AED) revenue from electricity (USD) Total Revenue (USD) vs Time (year)
123237.6 33550
$10,000,000.00
Revenue (USD) $9,000,000.00
Tomato 144,670
$8,000,000.00
lettuce 11,907
cucumber 18773.5 $7,000,000.00
pepper 42100 $6,000,000.00
strawberry 117880 a
Total 335,331 S A EORR —e—Revenue
54,000,000.00 —@— Fixed cost
""" $3,000,000.00
$2,000,000.00
Time (year) Sum of total Revenue (USD) Fixed cost $1,000,000.00
15 368,880.50 $1,660,215.00
5% 1,844,402.50 $1,660,215.00 > - : : : i 5 i
g 10 $ 3,688,805.00 $1,660,215.00 S
15 $ 5,533,207.50 $1,660,215.00 Time {year)
20 S 7,377,610.00 $1,660,215.00
25 $ 9,222,012.50 $1,660,215.00
Total cost of Concrete (AED) Total cost of Steel building
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